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g, =90 MPa

oy =0 MPa

T,z = 60 MPa

10 X donils o pigo ke sy
Gave = > (0, + 05) = 45 MPa
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R= ) .—Gx il
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¥+ 1.0 =452 + 607 = 75MPa

Op = Ogpg + B =120MPa

Oy = Gapg — 1 = —30MPa

Db wzsl Bl Y-X asie (o Jbp i s S le e a5 S8 L
Tpaxe = Tz = 120MPa

Ty = Opmin = Omax — 2Tmazx = 120 — 2(80) = —40 MPa

i
Pels bl G Y-Z amias o (Lhp A5 e Sle Jlade Sl 58 L
Fomin — Op = —30 MPa

Oy = Omax = Omin + 2Tmax = —30 + 2{80) = 130 MPa
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_ r the 200-kN Lc Solving again Eq. (10.11) for I, but
making now P, = 2.5(200] = 500 kN, we have

I=15584 % 107" m*

5.588 x 10~° = 116.95 mm

'TI]E' ‘-.":t[]lﬁ’ L}fl H]E—‘ I]()I'IE]&[] stress is

P 200 kN
o=—=- — = 14.62 MPa
A (011695 m)”

Since this value is larger than the allowable stress. the dimension obtained
is not acceptable, and we must select the cross section on the basis of its
resistunce to cmnpressiun. We write

P 200 kN

A= - = 16.67 % 107 m?
o 12MPa ‘“

@t = 16.67 % 107 m° = 1291 mm

A 130 x 130-mn cross section 1s éLCL‘HIJTtl[I][—.‘.
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